MR

RHRA E2E HE B | ZM#E B &
IR B R T SR AR
BLKEMERT HPPE(EFZ Ot A ZEE) L=5.00m ¢ 100 y:N 88
»100(P) HPPE(E®) L=5.00m ¢ 100 y:N 6
PEZaAf bk @ 100(P) 1@ 2
EFESZAUE ¢ 100 x 45° & 4
EFfI&F—X ®100x ¢ 50 & 1
BLKEMERT HPPE(EFZO{f A ZE%) L=5.00m ¢ 50 X 1
& 50(P) AHEIERE (P) ®50 1& 2
PVZaqTbk ¢ 50 & 1
BRSO —k BR—k W=150S m 471.0
HUHBRET RUBA—&REYIL — L2 FH 100 = 1
»100(P) o= H=800 8 1
HUHFZET AR LUHF ®50 H 1
®50(P) HRLAVryk(P) & 50 & 2
o= H=800 8 1
HKERET SHKAE b 75 = 1
¢ 75 #HIEF H=200 b75 B 1
ANBISUUHERNTFE H200 x ¢ 75 1 1
ISUTEEM @75 & 2
HRREE H=800 8 1
[BABEE | rreEskrcryBER) $100x ¢20 | f@ 5 |27 —p
AAHMF 20 & 5
YRk |HIVP L=4.00m $20 & 3[2mx a4tk Amx 14t
$¢100x 20 |y LR $20 1@ 10
Hiv 4k @20 & 5
YRILFE R KEEAER) $100x ¢ 30 1 1|37 — %R
YRV KR SORT b0 B 1
6100 30 |MiVP_ L=4.00m 30 y:N 1]2mx1
HiTJLAR ¢ 30 & 2
Hiv 4k ¢ 30 & 1
BHRS—k BR—k W=150S m 14.0




FHE

RHRA E2E HE B | ZM#E B &
BE BE kR
BLKEMERT RUIFLUERERT @100 m 466.0
@ 100(P) RUIFLUEYMRT @100 a 4
RUIFLUERFT (RUEES) ¢ 100 1O#EF | &ErF 88
RUIFLUERFT (RUEES) ¢ 100 200##F | &fR 5
AHh=HILMFT (P) ® 100 A 4
BLKEMERT RIUIFLUERHZT ¢ 50 m 5.0
$50 (P) RUZFLUEYERT ®50 a 3
RUIFLUERFT (REES) ¢ 50 EAT 1
AN=HIEFT(P) ¢ 50 A 5
ANZHILEFET(V) ¢ 50 m| 1
ERR—F BRI —b m 4710
HUHFZET TUHFET @100 = 1
AN=HIBFITGRYER) @100 a 2
REHRET H=800 #H 1
»100(P) HERE " 1
TUHHZET TUHFET ®50 H 1
HENMOEERLAA#ES ¢ 50 a 2
RIUIFLUEHRFT ¢ 50 a 2
REHRET H=600 #H 1
»50(P) HERE " 1
HKERET HRRERET b 75 = 1
AHh=HILFT (P) $ 100 A 2
TIUUMFET 75 m| 1
REHRET H=800 #H 1
HERE 1 1
HwAkoET YRILAKEFREL RIEHR $ 100X ¢ 20 & 5 (54
YRV KR MERLAAT ¢ 20 A 5
$100% 20 E-—ILEMmHKZT @20 m 12.0
TS#MFT 20 a 30
YRILAKREFRETL RIVEH ¢$ 100 % ¢ 30 1& 1144
YRV KR MERLAAT ¢ 30 A 1
$100% ¢ 30 E-—ILEMmHKZT ®30 m 2.0
TS#MFT 30 a 6
ERR—F BRI —b m 14.0
B KEAER
KL BR BKEERT HKERE =| 0.23 (L/2,0008




T I M E K
£ FR R g = RETHE
BB BB T KR

FEKEMSRT | H=800 | HRED 060 m X 0975 m X 466.0 m 272.61 m3

BRIET H=800 | EFE®@ 060 m X 0913 m X 50 m = 274 m3
BEt = 275.35 280

H=800 | BFE® 060 m 0475 m 4660 m = 132.81 m3

BHIERLICSR) H=800 | HFE®@ 060 m X 0413 m X 50 m = 124 m3
&&t 134.05 130

H=800 | BFE(D 060 m X 0250 m X 4660 m = 69.90 m3

BHERLI(REL) | H=800 | WHEQ® 060 m X 0250 m X 50 m = 0.75 m3
BEt 70.65 m3 70
HiIMET 27535 m3 - 7065 m3 / 0.90 = 196.85 m3 200
TEREI(EE) t=15cm | RC-40 060 m X 4710 m = 28260 m2 283
FERBET(EE) t=12cm M-30 060 m X 4710 m = 282.60 m2 283
RAsEHEE T t=3cm FRAI 060 m X 4710 m + 140 m = 291.00 m2 291
AEIRAsTHE T (EE)| t=5cm B 140 m X 4710 m + 140 m = 679.00 m?2 679
AsEhEE IR Y] T T t=5cm 47100 m + 1400 m X 400 & = 19400 m 1940
AsERZE M T t=5cm EIRmiE = 679.00 m?2 679
R AsTHEE MR T t=3cm 060 m X 4710 m + 140 m = 291.00 m2 291
AsEHERER -0 T B 3E x 0.05 + {R&x003 + = 4268 m3 43

R SR T SRR

BB |#EKET H=800 | EFED 060 m X 0975 m X 140 m = 8.19 m3 8
64 BHIERLI(CIR) H=800 | BFE® 060 m X 0475 m X 140 m = 399 m3 4
WWERLI(EL) | H=800 | #H@ED 060 m X 0250 m X 140 m = 210 m3 9
BLIAMET 819 m3 - 210 m3 / 0.90 = 586 m3 6
TREREI(EE) t=15cm | RC-40 060 m X 140 m = 8.40 m2 8
LTERBET(EE) t=12cm M-30 060 m X 140 m = 840 m2 8




¢ 100 HPPE fid /K & U] & &
UEE  (m)
A (m) Bl
= Poran Poran /x o
Za B il SRS ERE z oy . fii &
5]
-1 -2 Z.-3 4 Z.-5 D—@ (m)
HPPE 100 5. 000 5. 000 5. 000
HPPE 100 5. 000 2.000 3. 000 5. 000 1
HPPE 100 5. 000 2. 000 3. 000 5. 000 1
HPPE 100 5. 000 5. 000 5. 000
HPPE 100 5. 000 3. 000 3. 000 2. 000 1
HPPE 100 5. 000 3. 000 3. 000 2.000 1
2 30.000 | 20.000 6. 000 26. 000 4. 000 4
30.000  20.000 6. 000 26. 000 4. 000 4. 000
¢ 50 HPPE fid /K & ] & F
UEE (m)
A (m) Bl T
= Poran Poran /x o
Za B il SRS ERE z oy . fii &
5]
F-1 -2 Z.-3 4 Z.-5 D—@ (m)
HPPE 100 5. 000 3. 000 1. 000 0. 500 0. 500 5. 000 3 b3
2 5. 000 3. 000 1. 000 0. 500 0. 500 5. 000 3




